

פתרון תרגיל מס' 3:

A B C	$\overline{B}C$	$\overline{A+B}C$	$\overline{A}(A+B)C$	$\overline{B}C + \overline{A}(A+B)C$
0 0 0	0	1	1	1
0 0 1	1	1	1	1
0 1 0	0	1	1	1
0 1 1	0	1	1	1
1 0 0	0	0	0	0
1 0 1	1	0	0	1
1 1 0	0	0	0	0
1 1 1	0	0	0	0

(1)

$$F(1,0,0,0) = \overline{1 \cdot 0 \cdot 0} + 1 \cdot 0 \cdot (0 \cdot 0 + 1 \cdot 0) \quad (1c) \quad (2)$$

$$\overline{0} + 1 \cdot 1 \cdot (0 + 0)$$

$$1 + 0 = 1$$

$$F(1,0,0,1) = \overline{1 \cdot 0 \cdot 0} + 1 \cdot \overline{1} \cdot (0 \cdot 0 + 1 \cdot 1) \quad (2) \quad (3)$$

$$\overline{0} + \overline{0} = 1 + 0 = 1$$

$$F(1,0,1,1) = \overline{1 \cdot 0 \cdot 1} + 1 \cdot \overline{1} \cdot (0 \cdot 1 + 1 \cdot 1) \quad (3) \quad (4)$$

$$\overline{1} + \underbrace{1 \cdot 0 + (\quad)}_{0}$$

$$0 + 0 = 0$$

A B C	$\overline{A}C$	$\overline{A}B$	$\overline{A}C + \overline{A}B$	$\overline{A}B C$
0 0 0	1	1	1	0
0 0 1	1	1	1	0
0 1 0	1	1	1	0
0 1 1	1	1	1	0
1 0 0	0	1	1	0
1 0 1	0	1	1	0
1 1 0	0	0	0	0
1 1 1	0	0	0	1

(3)

ABCD	$F_1 = \overline{A}BCD + A\overline{B}\overline{C}\overline{D}$	$F_2 = A + \overline{A}B + \overline{A}\overline{B}C + \overline{A}\overline{B}\overline{C}D$	$F_3 = \overline{A}\overline{B} + \overline{B}C + C\overline{D}$
0000	1	0	0
0001	0	1	0
0010	0	1	1
0011	0	1	1
0100	0	1	0
0101	0	1	0
0110	0	1	1
0111	0	1	0
1000	0	1	1
1001	0	1	1
1010	0	1	1
1011	0	1	1
1100	0	1	0
1101	0	1	0
1110	1	1	1
1111	1	1	0

↑
 ~nB01c ~nD
 1111
 110
 0000

↑
 ~n ~n ~n
 -N
 0000

↑
 ~nB01c ~nD
 /AB) = (1, 0)
 (Bc) = (0, 1)
 (cD) = (1, 0)